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Look at the beads on the abacus and add the numbers 
 

5 4 1 3    

     + 1 1 4 3 

 6 5 5 6 

 

 

3 0 2 2    

     + 2 3 3 5 

  

 

Add the numbers 

5 4 1 3    5 4 1 3  

     + 1 1 4 3        + 1 1 4 3 

 6 5 5 6 

 

Which two pair of numbers adds up to 8555? 

3 0 0 5  6 2 3 4     2 3 2 1     

2 4 1 1  5 5 0 0  5 2 5 0 

5 5 5 0  4 8 5 5  4 5 5 0 
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Look at the beads on the abacus and add the numbers 
 

1 3 1 2    

     + 1 1 4 3 

  

 

 

2 1 3 2    

     + 2 0 3 4 

  

 

Add the numbers 

4 4 3 2    2 0 7 2  

     + 3 2 4 2        + 5 5 0 5 

  

 

Which two pair of numbers adds up to 7454? 

2 0 0 0  6 2 3 4     3 0 4 2     

2 4 1 1  5 5 0 0  5 2 5 0 

5 4 5 4  4 4 1 2  4 5 5 0 
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Look at the beads on the abacus and add the numbers 
 

5 2 1 0    

     + 3 3 5 5 

  

 

 

1 2 8 2    

     + 7 5 0 6 

  

 

Add the numbers 

2 9 9 8    2 3 3 5  

     + 2 0 0 1        + 5 4 5 1 

  

 

Which two pair of numbers adds up to 7788? 

6 0 0 5  3 2 3 1     2 3 2 4     

2 4 1 1  2 5 3 8  5 2 5 0 

1 5 5 4  4 8 5 5  4 5 5 0 
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Look at the beads on the abacus and add the numbers 
 

1 2 4 3    

     + 1 2 4 3 

  

 

 

3 0 2 2    

     + 2 3 3 5 

  

 

Add the numbers 

1 6 6 8    4 8 0 4  

     + 1 3 2 0        + 1 0 9 5 

  

 

Which two pair of numbers adds up to 8764? 

4 0 0 4  3 2 3 1     2 3 2 1     

2 4 1 1  5 5 3 3  5 2 5 0 

5 5 5 0  4 2 1 0  4 5 5 4 
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Look at the beads on the abacus and add the numbers 
 

2 0 0 2    

     + 3 3 7 6 

  

 

 

2 4 0 0    

     + 4 2 8 9 

  

 

Add the numbers 

1 0 5 2    1 3 5 4  

     + 7 7 3 7        + 4 6 4 4 

   

 

Which two pair of numbers adds up to 9188? 

5 1 3 8  6 2 3 4     2 0 2 1     

2 4 1 1  5 3 0 1  5 2 5 0 

7 1 6 7  4 8 5 5  4 0 5 0 
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Look at the beads on the abacus and add the numbers 
 

1 7 0 4    

     + 3 2 9 1 

  

 

 

2 0 1 0    

     + 3 0 5 6 

  

 

Add the numbers 

1 6 2 5    2 5 8 4  

     + 8 3 2 4        + 5 3 0 4 

     

 

Which two pair of numbers adds up to 8257? 

3 0 0 5  6 1 4 5     2 3 2 1     

2 1 1 2  5 5 0 0  5 2 5 0 

5 8 4 3  4 8 5 5  3 0 0 7 
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Look at the beads on the abacus and add the numbers 
 

4 9 2 6    

     + 4 0 3 1 

  

 

 

1 0 5 1    

     + 1 7 3 3 

  

 

Add the numbers 

7 2 5 6    7 9 5 8  

     + 2 5 4 1        + 2 0 4 1 

  

 

Which two pair of numbers adds up to 9786? 

3 0 0 5  6 2 3 4     1 6 8 2     

2 4 1 1  8 1 0 4  5 2 5 0 

5 4 5 0  4 8 5 5  4 3 3 6 
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Look at the beads on the abacus and add the numbers 
 

1 4 4 4    

     + 6 2 2 1 

  

 

 

3 0 2 2    

     + 2 3 3 5 

  

 

Add the numbers 

7 5 0 5    3 2 5 4  

     + 2 3 4 3        + 3 6 4 2 

  

 

Which two pair of numbers adds up to 9856? 

2 9 7 4  6 2 3 4     2 3 2 1     

2 3 9 0  5 5 0 0  5 2 5 0 

3 6 2 2  4 8 5 5  4 3 5 6 
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Look at the beads on the abacus and add the numbers 
 

6 2 3 3    

     + 2 7 3 4 

 6 5 5 6 

 

 

3 1 6 2    

     + 2 1 2 5 

  

 

Add the numbers 

5 5 4 1    7 8 6 3  

     + 4 4 2 7        + 1 1 3 6 

  

 

Which two pair of numbers adds up to 6594? 

3 0 0 4  2 5 9 4     2 3 2 1     

2 4 1 1  2 0 4 4  5 2 5 0 

3 5 9 0  4 8 5 5  4 5 5 0 
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Look at the beads on the abacus and add the numbers 
 

7 5 0 4    

     + 2 1 4 4 

  

 

 

1 1 2 2    

     + 3 2 3 4 

  

 

Add the numbers 

2 3 1 5    6 6 5 2  

     + 1 3 4 4        + 2 1 1 3 

  

 

Which two pair of numbers adds up to 4312? 

3 1 0 0  5 2 3 4     3 1 1 1     

1 2 1 2  1 2 0 1  2 2 9 0 

5 5 5 5  3 8 5 5  1 9 0 1 


